
MATHS

BOOKS - NCERT EXEMPLAR

LINES AND ANGLES

Solved Examples

1. The angles between North and East and

North and West are 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_F2UXCn9jep10


A. complementary angles

B. supplementary angles

C. both acute angles

D. both obtuse angles

https://dl.doubtnut.com/l/_F2UXCn9jep10


Answer: B

Watch Video Solution

2. Which of the following pair of angles are

supplementary?

A. 

B. 

C. 

D. 

48∘ , 42∘

60∘ , 60∘

75∘ , 105∘

179∘ , 2∘

https://dl.doubtnut.com/l/_F2UXCn9jep10
https://dl.doubtnut.com/l/_mhUEYN0GRvBX


Answer: C

Watch Video Solution

3. In Figure, a pair of corresponding angles is 

https://dl.doubtnut.com/l/_mhUEYN0GRvBX
https://dl.doubtnut.com/l/_5CJhLTwrgfLP


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∠1, ∠2

∠3, ∠6

∠3, ∠5

∠3, ∠7

4. If two lines are intersected by a transversal,

then the number of pairs of interior angles on

the same side of the transversal is

https://dl.doubtnut.com/l/_5CJhLTwrgfLP
https://dl.doubtnut.com/l/_LvaTIG5kuJ0u


A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

5. State whether the statements are True or

False. 

Sum of two complementary angles is .180∘

https://dl.doubtnut.com/l/_LvaTIG5kuJ0u
https://dl.doubtnut.com/l/_xSkcWGaeHxJ2


Watch Video Solution

6. State whether the statements are True or

False. 

Sum of two supplementary angles is .

Watch Video Solution

180∘

7. State whether the statements are True or

False. 

https://dl.doubtnut.com/l/_xSkcWGaeHxJ2
https://dl.doubtnut.com/l/_IzCbdokeeR4m
https://dl.doubtnut.com/l/_QZlnFZRXDR4o


Sum of interior angles on the same side of a

transversal with two parallel lines is 

Watch Video Solution

90∘

8. State whether the statements are True or

False. 

Vertically opposite angles are equal.

Watch Video Solution

https://dl.doubtnut.com/l/_QZlnFZRXDR4o
https://dl.doubtnut.com/l/_hrTOpbICxTTN


9. In Fig. 5.3, four line segments PQ, QR, RS and

ST are making the letter W, PQ||RS and QR||ST.

If angle between PQ and QR is , find the

values of x and y. 

Watch Video Solution

39∘

https://dl.doubtnut.com/l/_jGjdcwDTSHK5


10. In Fig. 5.4, are the angles 1 and 2 of the

letter N forming a pair of adjacent angles?

Give reasons. 

Watch Video Solution

https://dl.doubtnut.com/l/_4zR1PHNerPFS


11. In Fig. 5.5, the points A, O and B are

collinear. Ray OC  ray OD. Check whether 


(i)  and  are complementary , (ii)

 and  are supplementary. 

Watch Video Solution

⊥

∠AOD ∠BOC

∠AOC ∠BOC

https://dl.doubtnut.com/l/_4zR1PHNerPFS
https://dl.doubtnut.com/l/_bKRUncsc4dJv
https://dl.doubtnut.com/l/_JRywEDRfgJ8s


12. In Fig. 5.6 AB||EF, ED||CB and APE is .

Find . 


Watch Video Solution

39∘

∠CQF

https://dl.doubtnut.com/l/_JRywEDRfgJ8s


13. Out of a pair of complementary angles, one

is two-third of the other. Find the angles.

Watch Video Solution

14. In Fig. 5.7, CD intersects the line AB at F,

 and . Find∠CFB = 50∘ ∠EFA = ∠AFD

https://dl.doubtnut.com/l/_teqrrsDr91gV
https://dl.doubtnut.com/l/_6Xh4jgATZYpV


the measure of . 


Watch Video Solution

∠EFC

15. In the given figure, find out which pair of

lines are parallel. 

https://dl.doubtnut.com/l/_6Xh4jgATZYpV
https://dl.doubtnut.com/l/_BURnforhOYXN


Solved Examples Fill In The Blanks

Watch Video Solution

1. fill in the blanks to make the statements

true. 

https://dl.doubtnut.com/l/_BURnforhOYXN
https://dl.doubtnut.com/l/_dvYE4ksFI0mL


Two lines in a plane which never meet at any

point are called _________.

Watch Video Solution

2. fill in the blanks to make the statements

true. 

Angles of a linear pair are _________ as well as

________

Watch Video Solution

https://dl.doubtnut.com/l/_dvYE4ksFI0mL
https://dl.doubtnut.com/l/_pwgyfzvBxx5y


Think And Discuss

3. fill in the blanks to make the statements

true. 

Adjacent angles have a common vertex, a

common
__________ and no common _________.

Watch Video Solution

1. Tell which statements are correct : If 

and  are congruent, 

∠X

∠Y

https://dl.doubtnut.com/l/_5y5ppaxkcpK3
https://dl.doubtnut.com/l/_yim70wu5wZFb


a. 


b.  


c.

Watch Video Solution

∠X = ∠Y

m∠X = m∠Y

∠X ≅∠Y

2. Explain why vertically opposite angles must

always be congruent .

Watch Video Solution

https://dl.doubtnut.com/l/_yim70wu5wZFb
https://dl.doubtnut.com/l/_Pv6SCqlFyZ8b


3. Can you find whether the lines EF , GH , KP ,

AB and CD are parallel or not by using other

conditions of parallel lines ? 

Watch Video Solution

https://dl.doubtnut.com/l/_71XnkB8OkGTn


4. Tell how many different angles would be

formed by a transversal intersecting three

parallel lines. How many different angle

measures would there be?

Watch Video Solution

5. Explain how a transversal could intersect

two other lines so that corresponding angles

are not congruent.

Watch Video Solution

https://dl.doubtnut.com/l/_3GwC6SHGo87m
https://dl.doubtnut.com/l/_o6402urZXuDT


Exercise

6. Explain whether a triangle can have two

right angles. Can it have two obtuse angles?

Watch Video Solution

1. The angles between North and West and

South and East are

A. complementary

https://dl.doubtnut.com/l/_o6402urZXuDT
https://dl.doubtnut.com/l/_j3L1MFG3c1GY
https://dl.doubtnut.com/l/_RlesIAvUjDH2


B. supplementary

C. both are acute

D. both are obtuse

Answer:

Watch Video Solution

2. Angles between South and West and South

and East are

A. vertically opposite angles

https://dl.doubtnut.com/l/_RlesIAvUjDH2
https://dl.doubtnut.com/l/_DhlCZF0n0pzV


B. complementary angles

C. making a linear pair

D. adjacent but not supplementary

Answer:

Watch Video Solution

3. In Fig. 5.9, PQ is a mirror, AB is the incident

ray and BC is the reflected ray. If

, then  is equal to 
∠ABC = 46∘ ∠ABP

https://dl.doubtnut.com/l/_DhlCZF0n0pzV
https://dl.doubtnut.com/l/_B0nGlryS3ooR


 

A. 

B. 

C. 

D. 

44∘

67∘

13∘

62∘

https://dl.doubtnut.com/l/_B0nGlryS3ooR


Answer:

Watch Video Solution

4. If the complement of an angle is , then

the angle will be of

A. 

B. 

C. 

D. 

79∘

1∘

11∘

79∘

101∘

https://dl.doubtnut.com/l/_B0nGlryS3ooR
https://dl.doubtnut.com/l/_7HjVViboegji


Answer:

Watch Video Solution

5. Angles which are both supplementary and

vertically opposite are

A. 

B. 

C. 

D. 

95∘ , 85∘

90∘ , 90∘

100∘ , 80∘

45∘ , 45∘

https://dl.doubtnut.com/l/_7HjVViboegji
https://dl.doubtnut.com/l/_UeeJTqpkhynA


Answer: B

Watch Video Solution

6. The angle which makes a linear pair with an

angle of  is of

A. 

B. 

C. 

D. 

61∘

29∘

61∘

122∘

119∘

https://dl.doubtnut.com/l/_UeeJTqpkhynA
https://dl.doubtnut.com/l/_RKAJgyht7Q5N


Answer:

Watch Video Solution

7. The angles x and  are

A. supplementary

B. complementary

C. vertically opposite

D. making a linear pair

Answer:

90∘ − x

https://dl.doubtnut.com/l/_RKAJgyht7Q5N
https://dl.doubtnut.com/l/_cq6fGXXRLcxf


Watch Video Solution

8. The angles x –  and  – x are

A. interior angles on the same side of the

transversal

B. making a linear pair

C. complementary

D. supplementary

Answer:

10∘ 190∘

https://dl.doubtnut.com/l/_cq6fGXXRLcxf
https://dl.doubtnut.com/l/_XNpRfLtsxJM4


Watch Video Solution

9. In Fig. 5.10, the value of x is 

A. 

B. 

110∘

46∘

https://dl.doubtnut.com/l/_XNpRfLtsxJM4
https://dl.doubtnut.com/l/_zsBoO69pIDAb


C. 

D. 

Answer:

Watch Video Solution

64∘

150∘

10. In Fig. 5.11 , if AB || CD ,  and 

 , then  is 

∠APQ = 50∘

∠PRD = 130∘ ∠QPR

https://dl.doubtnut.com/l/_zsBoO69pIDAb
https://dl.doubtnut.com/l/_OpwVQVtWUXsb


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

130∘

50∘

80∘

30∘

https://dl.doubtnut.com/l/_OpwVQVtWUXsb


11. In Fig. 5.12, lines l and m intersect each

other at a point. Which of the following is

false? 

A. 

B. 

∠a = ∠b

∠d = ∠c

https://dl.doubtnut.com/l/_OpwVQVtWUXsb
https://dl.doubtnut.com/l/_uQGo8y1ddDNe


C. 

D. 

Answer:

Watch Video Solution

∠a + ∠d = 180∘

∠a = ∠d

12. If angle P and angle Q are supplementary

and the measure of angle P is  , then the

measure of angle Q is

A. 

60∘

120∘

https://dl.doubtnut.com/l/_uQGo8y1ddDNe
https://dl.doubtnut.com/l/_EOvJhzQKnspM


B. 

C. 

D. 

Answer:

Watch Video Solution

60∘

30∘

20∘

https://dl.doubtnut.com/l/_EOvJhzQKnspM


13. In Fig. , POR is a line . The value of a is 

A. 

B. 

C. 

40∘

45∘

55∘

https://dl.doubtnut.com/l/_4mc1pLyiA1UC


D. 

Answer:

Watch Video Solution

60∘

14. In Fig. 5.14 . POQ is a line . If x =  , then 

 is 

30∘

∠QOR

https://dl.doubtnut.com/l/_4mc1pLyiA1UC
https://dl.doubtnut.com/l/_mc2bOL6JALY0


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

90∘

30∘

150∘

60∘

15. The measure of an angle which is four

times its supplement is

https://dl.doubtnut.com/l/_mc2bOL6JALY0
https://dl.doubtnut.com/l/_9vw7nlUyI78x


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

36∘

144∘

16∘

64∘

https://dl.doubtnut.com/l/_9vw7nlUyI78x


16. In Fig. 5.15, the value of y is 

A. 

B. 

C. 

D. 

Answer:

30∘

15∘

20∘

22.5∘

https://dl.doubtnut.com/l/_LSLpjmMChMbs


Watch Video Solution

17. In Fig. 5.16, PA || BC || DT and AB || DC. Then,

the values of a and b are respectively. 

A. 

B. 

C. 

60∘ , 120∘

50∘ , 130∘

70∘ , 110∘

https://dl.doubtnut.com/l/_LSLpjmMChMbs
https://dl.doubtnut.com/l/_Qb3RgzOdRSlk


D. 

Answer:

Watch Video Solution

80∘ , 100∘

18. The difference of two complementary

angles is  . Then, the angles are

A. 

B. 

C. 

30∘

60∘ , 30∘

70∘ , 40∘

20∘ , 50∘

https://dl.doubtnut.com/l/_Qb3RgzOdRSlk
https://dl.doubtnut.com/l/_vaPqenBKYZwO


D. 

Answer: A

Watch Video Solution

105∘ , 75∘

19. In Fig. PQ || SR and SP || RQ. Then, angles a

and b are respectively 

https://dl.doubtnut.com/l/_vaPqenBKYZwO
https://dl.doubtnut.com/l/_wpKAc4aAJXlc


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

20∘ , 50∘

50∘ , 20∘

30∘ , 50∘

45∘ , 35∘

https://dl.doubtnut.com/l/_wpKAc4aAJXlc


20. In Fig a and b are 

A. alternate exterior angles

B. corresponding angles

C. alternate interior angles

D. vertically opposite angles

https://dl.doubtnut.com/l/_53977tODYEyj


Answer:

Watch Video Solution

21. If two supplementary angles are in the

ratio , then the bigger angle is

A. 

B. 

C. 

D. 

1: 2

120∘

125∘

110∘

90∘

https://dl.doubtnut.com/l/_53977tODYEyj
https://dl.doubtnut.com/l/_BZxw6p55ZQdt


Answer: A

Watch Video Solution

22. In Fig. 5.19,  is a right angle and

 and  are in the ratio 1 : 5. Then,

 measures 


A. 

∠ROS

∠POR ∠QOS

∠QOS

150∘

https://dl.doubtnut.com/l/_BZxw6p55ZQdt
https://dl.doubtnut.com/l/_23nVZjiVUJj8


B. 

C. 

D. 

Answer:

Watch Video Solution

75∘

45∘

60∘

23. Statements a and b are as given below: 

a : If two lines intersect, then the vertically

opposite angles are equal. 

b : If a transversal intersects, two other lines,

https://dl.doubtnut.com/l/_23nVZjiVUJj8
https://dl.doubtnut.com/l/_wAF7WgrP2vtO


then the sum of two interior angles on the

same side of the transversal is . 


Then

A. Both a and b are true

B. a is true and b is false

C. a is false and b is true

D. both a and b are false

Answer:

Watch Video Solution

180∘

https://dl.doubtnut.com/l/_wAF7WgrP2vtO
https://dl.doubtnut.com/l/_SP6GFSqQ74DN


24. For Fig. 5.20, statements p and q are given

below: 

p : a and b are forming a linear pair. 

q : a and b are forming a pair of adjacent

angles. 

Then 

A. both p and q are true

https://dl.doubtnut.com/l/_SP6GFSqQ74DN


B. p is true and q is false

C. p is false and q is true

D. both p and q are false

Answer:

Watch Video Solution

25. In Fig. 5.21,  and  form a pair

of 

∠AOC ∠BOC

https://dl.doubtnut.com/l/_SP6GFSqQ74DN
https://dl.doubtnut.com/l/_XC088FoLlbJ0


A. vertically opposite angles

B. complementary angles

C. alternate interior angles

D. supplementary angles

Answer:

https://dl.doubtnut.com/l/_XC088FoLlbJ0


Watch Video Solution

26. In Fig. 5.22, the value of a is 

A. 20∘

https://dl.doubtnut.com/l/_XC088FoLlbJ0
https://dl.doubtnut.com/l/_cCNcoVxn1Mry


B. 

C. 

D. 

Answer: D

Watch Video Solution

15∘

5∘

10∘

https://dl.doubtnut.com/l/_cCNcoVxn1Mry


27. In Fig. 5.23, if QP || SR, the value of a is 

A. 

B. 

C. 

D. 

Answer:

40∘

30∘

90∘

80∘

https://dl.doubtnut.com/l/_f8XfCJBzcUk8


Watch Video Solution

28. In which of the following figures, a and b

are forming a pair of adjacent angles?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_f8XfCJBzcUk8
https://dl.doubtnut.com/l/_BWuk0tm5RIqG


D. 

Answer:

Watch Video Solution

29. In a pair of adjacent angles, (i) vertex is

always common, (ii) one arm is always

common, and (iii) uncommon arms are always

opposite rays 

Then

https://dl.doubtnut.com/l/_BWuk0tm5RIqG
https://dl.doubtnut.com/l/_gTl32DbN1ApG


A. All (i), (ii) and (iii) are true

B. (iii) is false

C. (i) is false but (ii) and (iii) are true

D. (ii) is false

Answer:

Watch Video Solution

30. In Fig. 5.25, lines PQ and ST intersect at O. If

 and x : y = 3 : 2, then z is equal∠POR = 90∘

https://dl.doubtnut.com/l/_gTl32DbN1ApG
https://dl.doubtnut.com/l/_eMcuMPbpHRnu


to 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

126∘

144∘

136∘

154∘

https://dl.doubtnut.com/l/_eMcuMPbpHRnu


31. In Fig. 5.26, POQ is a line, then a is equal to 

A. 

B. 

C. 

35∘

100∘

80∘

https://dl.doubtnut.com/l/_eMcuMPbpHRnu
https://dl.doubtnut.com/l/_6l48H6Xs5P9F


D. 

Answer:

Watch Video Solution

135∘

32. Vertically opposite angles are always

A. supplementary

B. complementary

C. adjacent

D. equal

https://dl.doubtnut.com/l/_6l48H6Xs5P9F
https://dl.doubtnut.com/l/_wsujtX2xpqvC


Answer: D

Watch Video Solution

33. In Fig. 5.27, a =  . The value of b is 


A. 

B. 

40∘

20∘

24∘

https://dl.doubtnut.com/l/_wsujtX2xpqvC
https://dl.doubtnut.com/l/_yZycIu4ue5ko


C. 

D. 

Answer:

Watch Video Solution

36∘

120∘

34. If an angle is  less than two times of its

supplement, then the greater angle is

A. 

B. 

60∘

100∘

80∘

https://dl.doubtnut.com/l/_yZycIu4ue5ko
https://dl.doubtnut.com/l/_XW7LFUWHT7Vt


C. 

D. 

Answer: A

Watch Video Solution

60∘

120∘

35. In Fig. 5.28, PQ || RS. If  and

, then the measure of  in

∠1 = (2a + b) ∘

∠6 = (3a– b) ∘ ∠2

https://dl.doubtnut.com/l/_XW7LFUWHT7Vt
https://dl.doubtnut.com/l/_udtFszXabrcn


terms of b is 

A. 

B. 

C. 

D. 

(2 + b)
∘

(3 − b)
∘

(108 − b)
∘

(180 − b)
∘

https://dl.doubtnut.com/l/_udtFszXabrcn


Answer: C

Watch Video Solution

36. In Fig. 5.29, PQ||RS and . Then, f

is equal to 

a : b = 3: 2

https://dl.doubtnut.com/l/_udtFszXabrcn
https://dl.doubtnut.com/l/_vGUKcoh7A1l0


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

36∘

108∘

72∘

144∘

37. In Fig. 5.30, line l intersects two parallel

lines PQ and RS. Then, which one of the

https://dl.doubtnut.com/l/_vGUKcoh7A1l0
https://dl.doubtnut.com/l/_SkLUQrw60xFp


following is not true? 

A. 

B. 

C. 

∠1 = ∠3

∠2 = ∠4

∠6 = ∠7

https://dl.doubtnut.com/l/_SkLUQrw60xFp


D. 

Answer:

Watch Video Solution

∠4 = ∠8

38. In Fig. 5.30, which one of the following is

not true? 

https://dl.doubtnut.com/l/_SkLUQrw60xFp
https://dl.doubtnut.com/l/_USBQat1XsMu5


A. 

B. 

C. 

D. 

∠1 + ∠5 = 180∘

∠2 + ∠5 = 180∘

∠3 + ∠8 = 180∘

∠2 + ∠3 = 180∘

https://dl.doubtnut.com/l/_USBQat1XsMu5


Answer:

Watch Video Solution

39. In Fig. 5.30, which of the following is true?

https://dl.doubtnut.com/l/_USBQat1XsMu5
https://dl.doubtnut.com/l/_WtUTYuCz5GiZ


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∠1 = ∠5

∠4 = ∠8

∠5 = ∠8

∠3 = ∠7

40. In Fig. 5.31, PQ||ST. Then, the value of x + y

is 

https://dl.doubtnut.com/l/_WtUTYuCz5GiZ
https://dl.doubtnut.com/l/_NtmhcUhpUPGc


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

125∘

135∘

145∘

120∘

https://dl.doubtnut.com/l/_NtmhcUhpUPGc


41. In Fig. 5.32, if PQ||RS and QR||TS, then the

value a is 

A. 

B. 

C. 

D. 

95∘

90∘

85∘

75∘

https://dl.doubtnut.com/l/_ZZ8royQRaPrh


Answer:

Watch Video Solution

42. If a transversal intersects two parallel lines,

then 

sum of interior angles on the same side of a

transversal is _______

Watch Video Solution

https://dl.doubtnut.com/l/_ZZ8royQRaPrh
https://dl.doubtnut.com/l/_iiIQAwOdJ2DN


43. If a transversal intersects two parallel lines,

then 

alternate interior angles have one common

_______

Watch Video Solution

44. If a transversal intersects two parallel lines,

then 

corresponding angles are on the ______ side of

the transversal

https://dl.doubtnut.com/l/_FOsDFXpoT7y0
https://dl.doubtnut.com/l/_LmzC2IcHjgWg


Watch Video Solution

45. If a transversal intersects two parallel lines,

then 

alternate interior angles are on the _______ side

of the transversal.

Watch Video Solution

46. Two lines in a plane which do not meet at a

point anywhere are _______ called lines.

Watch Video Solution

https://dl.doubtnut.com/l/_LmzC2IcHjgWg
https://dl.doubtnut.com/l/_CqHNfYzXfW8l
https://dl.doubtnut.com/l/_ql1Jw3LrHTv5


47. Two angles forming a __________ pair are

supplementary.

Watch Video Solution

48. The supplement of an acute is always

__________ angle.

Watch Video Solution

https://dl.doubtnut.com/l/_ql1Jw3LrHTv5
https://dl.doubtnut.com/l/_xpnGw9yyHfwK
https://dl.doubtnut.com/l/_8b9ejUzlhaCU


49. The supplement of a right angle is always

_________ angle.

Watch Video Solution

50. The supplement of an obtuse angle is

always _________ angle.

Watch Video Solution

https://dl.doubtnut.com/l/_6seMU1MeLiaz
https://dl.doubtnut.com/l/_t5HOSszs9wcB


51. In a pair of complementary angles, each

angle cannot be more than ________ .

Watch Video Solution

52. An angle is . Its complementary angle

will be __________ .

Watch Video Solution

45∘

https://dl.doubtnut.com/l/_JQZmHQ8h49cL
https://dl.doubtnut.com/l/_aHFe7jWVpdAi


53. An angle which is half of its supplement is

of __________.

Watch Video Solution

54. State whether the statements are True or

False. 

Two right angles are complementary to each

other.

Watch Video Solution

https://dl.doubtnut.com/l/_fqyNbXKGhXDD
https://dl.doubtnut.com/l/_87HFKoWCmKcW
https://dl.doubtnut.com/l/_hW91ZfNAaFYC


55. State whether the statements are True or

False. 

One obtuse angle and one acute angle can

make a pair of complementary angles.

Watch Video Solution

56. State whether the statements are True or

False. 

Two supplementary angles are always obtuse

angles.

Watch Video Solution

https://dl.doubtnut.com/l/_hW91ZfNAaFYC
https://dl.doubtnut.com/l/_Ge9wkByrp8dI


57. State whether the statements are True or

False. 

Two right angles are always supplementary to

each other.

Watch Video Solution

58. State whether the statements are True or

False. 

https://dl.doubtnut.com/l/_Ge9wkByrp8dI
https://dl.doubtnut.com/l/_6Q9hixcgbJje
https://dl.doubtnut.com/l/_Q1pW9wliAP9S


One obtuse angle and one acute angle can

make a pair of suplementary angles.

Watch Video Solution

59. State whether the statements are True or

False. 

Both angles of a pair of supplementary angles

can never be acute angles.

Watch Video Solution

https://dl.doubtnut.com/l/_Q1pW9wliAP9S
https://dl.doubtnut.com/l/_yuYfw1oM7yoH


60. State whether the statements are True or

False. 

Two supplementary angles always form a

linear pair.

Watch Video Solution

61. State whether the statements are True or

False. 

Two angles making a linear pair are always

supplementary.

https://dl.doubtnut.com/l/_a4vBfC9cK2cx
https://dl.doubtnut.com/l/_aWAejTBbL7jX


Watch Video Solution

62. State whether the statements are True or

False. 

Two angles making a linear pair are always

adjacent angles.

Watch Video Solution

63. State whether the statements are True or

False. 

Vertically opposite angles form a linear pair.

https://dl.doubtnut.com/l/_aWAejTBbL7jX
https://dl.doubtnut.com/l/_9QbgHqsSYynW
https://dl.doubtnut.com/l/_oJVPEIIUzq2k


Watch Video Solution

64. State whether the statements are True or

False. 

Interior angles on the same side of a

transversal with two distinct parallel lines are

complementary angles.

Watch Video Solution

https://dl.doubtnut.com/l/_oJVPEIIUzq2k
https://dl.doubtnut.com/l/_GNqCFtqItSwk


65. State whether the statements are True or

False. 

Vertically opposite angles are either both

acute angles or both obtuse angles.

Watch Video Solution

66. State whether the statements are True or

False. 

A linear pair may have two acute angles.

Watch Video Solution

https://dl.doubtnut.com/l/_jjy44oAD2P9K
https://dl.doubtnut.com/l/_C1SYSfCrqxVb


67. State whether the statements are True or

False. 

An angle is more than . Its complementary

angle must be less than  .

Watch Video Solution

45∘

45∘

68. State whether the statements are True or

False. 

Two adjacent angles always form a linear pair.

Watch Video Solution

https://dl.doubtnut.com/l/_C1SYSfCrqxVb
https://dl.doubtnut.com/l/_EHJNCewNR1Lh
https://dl.doubtnut.com/l/_twQoqqAv82MU


69. Write down each pair of adjacent angles

shown in the following figures: 

Watch Video Solution

https://dl.doubtnut.com/l/_twQoqqAv82MU
https://dl.doubtnut.com/l/_x7nFJWGvKDA9


70. In each of the following figures, write, if

any, (i) each pair of vertically opposite angles,

and (ii) each linear pair. 

Watch Video Solution

https://dl.doubtnut.com/l/_mX4btIEPqJE1


71. Name the pairs of supplementary angles in

the following figures: 

Watch Video Solution

https://dl.doubtnut.com/l/_CzInecz17Xz8


72. In Fig. 5.36, PQ || RS, TR || QU and

. Find . 


Watch Video Solution

∠PTR = 42∘ ∠QUR

73. The drawings below (Fig. 5.37), show angles

formed by the goalposts at different positions

of a football player. The greater the angle, the

https://dl.doubtnut.com/l/_cSp4t4qOJjq2
https://dl.doubtnut.com/l/_f7Dd2Z7r7oT3


better chance the player has of scoring a goal.

For example, the player has a better chance of

scoring a goal from Position A than from

Position B. 

 


In Parts (a) and (b) given below it may help to

trace the diagrams and draw and measure

angles. 

(a) Seven football players are practicing their

https://dl.doubtnut.com/l/_f7Dd2Z7r7oT3


kicks. They are lined up in a straight line in

front of the goalpost [Fig.(ii)]. Which player

has the best (the greatest) kicking angle? 

(b) Now the players are lined up as shown in

Fig. (iii). Which player has the best kicking

angle? 

(c) Estimate atleast two situations such that

the angles formed by different positions of

two players are complement to each other.

Watch Video Solution

https://dl.doubtnut.com/l/_f7Dd2Z7r7oT3


74. The sum of two vertically opposite angles

is . Find each of the angles.

Watch Video Solution

166∘

75. In Fig. 5.38, l ||m||n.  and

. Find . 


∠QPS = 35∘

∠QRT = 55∘ ∠PQR

https://dl.doubtnut.com/l/_9YLSuw8DrvcI
https://dl.doubtnut.com/l/_rjePkz8zVoBu


Watch Video Solution

https://dl.doubtnut.com/l/_rjePkz8zVoBu


76. In Fig. 5.39, P, Q and R are collinear points

and TQ  PR, 


Name, (a) pair of complementary angles 

(b) two pairs of supplementary angles. 

(c) four pairs of adjacent angles. 

Watch Video Solution

⊥

https://dl.doubtnut.com/l/_X18rK9bjh1yy


77. In Fig. 5.40, OR  OP. 


(i) Name all the pairs of adjacent angles. 

(ii) Name all the pairs of complementary

angles. 

Watch Video Solution

⊥

https://dl.doubtnut.com/l/_RM9QM3n6MJKm
https://dl.doubtnut.com/l/_WZxccDbzyKaQ


78. In (Fig 5.42) are the following pairs of

angles adjacent? Justify your answer. 

Watch Video Solution

79. In Fig. 5.43, write all the pairs of

supplementary angles. 

https://dl.doubtnut.com/l/_WZxccDbzyKaQ
https://dl.doubtnut.com/l/_ZSDN7a6Za2st


Watch Video Solution

80. What is the type of other angle of a linear

pair if 

(a) one of its angle is acute? 

(b) one of its angles is obtuse? 

(c) one of its angles is right?

https://dl.doubtnut.com/l/_ZSDN7a6Za2st
https://dl.doubtnut.com/l/_BxoPjWccqUVw


Watch Video Solution

81. Can two acute angles form a pair of

supplementary angles? Give reason in support

of your answer.

Watch Video Solution

82. Two lines AB and CD intersect at O (Fig.

5.44). Write all the pairs of adjacent angles by

https://dl.doubtnut.com/l/_BxoPjWccqUVw
https://dl.doubtnut.com/l/_CGZgbl6xTHU1
https://dl.doubtnut.com/l/_E42sQegluuHf


taking angles 1, 2, 3, and 4 only. 

Watch Video Solution

83. If the complement of an angle is 62°, then

find its supplement.

https://dl.doubtnut.com/l/_E42sQegluuHf
https://dl.doubtnut.com/l/_gAzC9kWPaUVI


Watch Video Solution

84. A road crosses a railway line at an angle of

30° as shown in Fig.5.45. Find the values of a, b

and c. 

Watch Video Solution

https://dl.doubtnut.com/l/_gAzC9kWPaUVI
https://dl.doubtnut.com/l/_nQdYfHIitPmR


85. The legs of a stool make an angle of 

with the floor as shown in Fig. 5.46. Find the

angles x and y. 

Watch Video Solution

35∘

https://dl.doubtnut.com/l/_nQdYfHIitPmR
https://dl.doubtnut.com/l/_HL3y4osQRCgG


86. Iron rods a, b, c, d, e and f are making a

design in a bridge as shown in Fig. 5.47, in

which a ||b, c ||d, e || f. Find the marked angles

between 

(i) b and c 

(ii) d and e 

(iii) d and f 

https://dl.doubtnut.com/l/_zZAZlr4NBZR6


(iv) c and f 

Watch Video Solution

87. Amisha makes a star with the help of line

segments a, b, c, d, e and f, in which a || d, b || e

and c || f. Chhaya marks an angle as  as

shown in Fig. 5.48 and asks Amisha to find the

120∘

https://dl.doubtnut.com/l/_zZAZlr4NBZR6
https://dl.doubtnut.com/l/_MYALZtu3OmtC


 and . Help Amisha in finding the

angles. 

Watch Video Solution

∠x, ∠y ∠z

https://dl.doubtnut.com/l/_MYALZtu3OmtC


88. In Fig. 5.49, AB||CD, AF||ED, 

and . Find . 


Watch Video Solution

∠AFC = 68∘

∠FED = 42∘ ∠EFD

89. In Fig. 5.50, OB is perpendicular to OA and

. Find  
∠BOC = 49∘ ∠AOD.

https://dl.doubtnut.com/l/_EWUuuMvnHPtp
https://dl.doubtnut.com/l/_UZWfYeLeFEfi


Watch Video Solution

90. Three lines AB, CD and EF intersect each

other at O. If  =  and ∠AOE 30∘ ∠DOB = 40∘

https://dl.doubtnut.com/l/_UZWfYeLeFEfi
https://dl.doubtnut.com/l/_iG1yQkajf4XR


(Fig. 5.51), find COF. 

Watch Video Solution

91. Measures (in degrees) of two

complementary angles are two consecutive

https://dl.doubtnut.com/l/_iG1yQkajf4XR
https://dl.doubtnut.com/l/_njvOwEwfAW66


even integers. Find the angles.

Watch Video Solution

92. Two angles are making a linear pair. If one

of them is one-third of the other, find the

angles.

Watch Video Solution

93. Measures (in degrees) of two

supplementary angles are consecutive odd

https://dl.doubtnut.com/l/_njvOwEwfAW66
https://dl.doubtnut.com/l/_GGURk56KzKkP
https://dl.doubtnut.com/l/_bPisK4qkSm7l


integers. Find the angles.

Watch Video Solution

94. In Fig. 5.53, find the value of BOC, if points

A, O and B are collinear. 

Watch Video Solution

https://dl.doubtnut.com/l/_bPisK4qkSm7l
https://dl.doubtnut.com/l/_NfS7NEGtO69C
https://dl.doubtnut.com/l/_vlZ9Azujueip


95. In Fig. 5.55, l ||m and a line t intersects

these lines at P and Q, respectively. Find the

sum 2a + b. 

Watch Video Solution

https://dl.doubtnut.com/l/_vlZ9Azujueip
https://dl.doubtnut.com/l/_GDZPRwVBvp3i


96. In Fig. 5.56, QP || RS. Find the values of a

and b. 

Watch Video Solution

https://dl.doubtnut.com/l/_GDZPRwVBvp3i


97. In Fig. 5.57, PQ || RT. Find the value of a + b. 

Watch Video Solution

https://dl.doubtnut.com/l/_GmhxZumXFezA


98. In Figure,  and  are parallel

lines. 

(i) If   and  , find the value of  . 


(ii) If   and   , find . 


A. 

B. 

PQ, RS UT

c = 57∘ a =
c

3
d

c = 75∘ a =
2

5
c b

d = 142∘ b = 45∘

d = 140∘ b = 40∘

https://dl.doubtnut.com/l/_HmVlpO03Spvq


C. 

D. 

Answer: A

Watch Video Solution

d = 130∘ b = 30∘

d = 150∘ b = 50∘

99. In Fig. 5.59, AB||CD . Find the reflex .
∠EFG

https://dl.doubtnut.com/l/_HmVlpO03Spvq
https://dl.doubtnut.com/l/_8qLRA14fhzys


Watch Video Solution

100. In Fig. 5.60, two parallel lines l and m are

cut by two transversals n and p. Find the

values of x and y. 

Watch Video Solution

https://dl.doubtnut.com/l/_8qLRA14fhzys
https://dl.doubtnut.com/l/_4m2iZ5uBM7tz


101. In Fig. 5.61, l, m and n are parallel lines, and

the lines p and q are also parallel. Find the

values of a, b and c. 

Watch Video Solution

https://dl.doubtnut.com/l/_4m2iZ5uBM7tz
https://dl.doubtnut.com/l/_fAMIoNIn8Cg2


102. In Fig. 5.62, state which pair of lines are

parallel. Give reason. 

Watch Video Solution

https://dl.doubtnut.com/l/_FWbedmOYPp7o


103. In Fig. 5.63, examine whether the following

pairs of lines are parallel or not: 

(i) EF and GH  (ii) AB and CD 


Watch Video Solution

       

https://dl.doubtnut.com/l/_ZAIp6NLao9PT


104. In Fig. 5.65 , show that 

(i) AB ||CD 

(ii) EF || GH 

Watch Video Solution

https://dl.doubtnut.com/l/_UWNruSLacbG6
https://dl.doubtnut.com/l/_SZoF8oDdIA9Z


105. In Fig.5.66 , two parallel lines l and m are

cut by two transversals p and q . Determine

the values of x and y . 

Watch Video Solution

https://dl.doubtnut.com/l/_SZoF8oDdIA9Z


Exercise Fill In The Blanks

1. fill in the blanks to make the statements

true. 

If sum of measures of two angles is 90°, then

the angles are _________.

Watch Video Solution

2. fill in the blanks to make the statements

true. 

https://dl.doubtnut.com/l/_wBMApJauDsgP
https://dl.doubtnut.com/l/_wKKak9XBmhKX


If the sum of measures of two angles is 180°,

then they are _________.

Watch Video Solution

3. fill in the blanks to make the statements

true. 

A transversal intersects two or more than two

lines at _________ points.

Watch Video Solution

https://dl.doubtnut.com/l/_wKKak9XBmhKX
https://dl.doubtnut.com/l/_5xEFNJjQ41Pt

